Module Name : TET - Paper 2 Tamil - Maths and Science
Exam Date : 15-Feb-2023 Batch : 09:00-12:00

Sr. No.

Client Question
1D

Question Body and Alternatives

Law of Continuity is related to :

QBTLIFH e 6TedT LIS :

! Laws of Perceptual Organisation

HevedT& ML Flemwl (pemmUILI(BSSHID BIW S ST

Az Theories of Perception

LevedT& LG Limmlul neorelwiey &L LIm(h 6T
3 Characteristics of Perception

L6V60T& ITL_ G Ul 60T LI6voT L85 6T

A4 Law of Proximity

|evoTemln G

Client - centred therapy is the practical application of
QUMY &6 WITETT 60D SR & T 6T60TLIS)

Al Directive

GBIIY
A

2 Authoritarian

FUUTH &ML

approach.

|80 (& (MU 6T HEM L (LD M LILIGTLITL TG LD.




A3 Psycho analytical

2 emedlilev LIGLILIMUIe)

A4 Humanistic

neof1 &L meoT LD

According to Garrett, the value of 1.Q. 110 -119 belongs to category.
SITTLIQ60T &H(HSSILILG. Blievorevorniley ey IGIL] 110 - 119 eTedT LI BLD&HTTL. 6THS 6U6M&6emUF SFTIHLD ?

fM Very superior

& 2wy mlemev
Superior

2 W[ Blemev

AS Bright

L g&meLnmeot
Average
Fonaf

One type of psycho-physiological disorder is .
©)&l 62(IH AUENGWITET 2_6T-2_ L MOFUWVEFTT GemmuUTh

Al Thirst

SHM&LD

Migraine

RS 56060660l

3 Hydrophobia

BT Qeumili]




54 Clustrophobia
Fal L QeumiliL]
The book 'Animal Intelligence' is written by :

“ elleuml G G616 N6 & En FEMLD “ 6T60TM LSS5 556ME eT(EILIGIT

fM K.P. Pandey

K.P. LImevor GL_

A2 £ L. Thorndike

E.L. STJ6oTemL &

{B O.N.L. Munn

O.N.L. (Lo 60T
‘A4 B.F. Skinner
B.E. 6nv &\ tre0TIy

Who said "Thinking is a mental activity in its cognitive aspect" ?
A BB G560 6T60TLIE M FFTT QSTLFL6mL I 06T QFWELITH 6T60T8 Fnpilulieu) :

! Garett

&ML

‘AZ Ross
T e
A3 Ryburn
60) [J LT 60T

4 Valentine




6L T6V60T60) L_60T

Emotional development reaches its maximum during period.

LDETR (D F T aUeTTEFS 2 FF06mL_ WD aIeTFFF LI LIHeLD

Al Infancy

&l Lipeaild
A2 Childhood
GBS LI[HEULD
63 Adolescence
GLWIL LBl

A% A dulthood

aImedSlLILT LIgheuLD
"A plateau is a horizontal stretch indicative of an apparent progress" was said by :

LS, WmeoTssl Q & mIG 8 85 MeoT aUeTIFF LI LITen G enl Gnl& @&LD 6TedTm Samenm Famluleur

.Al Ross

T IT6rY
62 Skinner
6N &R 60T 60T I
{\3 Gates and other
G& L6 GLaILD LDMHMEUTT
A% Calvin

& mevel6or

attempts to bring repressed unconscious material into consciousness.




10

11

IILEH emeussLILLL 2 6T Blemev MM QUITHem6T Herallev Q& mesor(h Uy (WM Q& uiuLD.

fM Behaviourism

L &H6MS6UTSHLD

.AZ Psychoanalysis

2 eTUGLILIMUIEY
A3 Gestalt School
Q&6 meuL_ Lieierf]
{M Humanistic School
eoflgs GBIl LisTer]
Clinical Psychology is an example for :

U161 2 emellule BLh&&H6e0TL 6eTauMMING 6T(hGHHHEHTL () :

I Pure Psychology
seoflplemev 2 _emailuiey
2 Applied Psychology
LwesTUmL () 2_6medl ey
_AS Positive Psychology
GBITINenMm 2_6Tedl Ulcy

.A4 General Psychology

Qumgl 2 _emedluicy

Concept of time management by the child is

HITVEH 60T &([HSHFH 6V 6 & mevoT(h) 94,@561@6\) GLPHMS

Al Poor
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13

Gum&L

62 Good

56071
A3 Excellent
LA\ &5 ot
?A4 Average
& LOMY
Which one of the following is the best incentive to make the student an expert ?

LD 85600T L6U M MIGT 6TSI, 62(IH LDITE0OTEU60I60T 6UEVAIBT TS Q&F I QeU@GH WIS QFWeLIHHmS! ?

_Al Reading

LI 560
AZ Reward
Qe LS
_A3 Punishment
&5 600T L_60) 60T
{\4 Exercise
Lume
Collection of impressions received by the child mind is the result of

&LPHen S WIN6IT N6TH6TTeL QLIMLILIL L LS 6] Q&5T&LULINME —— 6T6tTml Semp&H&LILGSR M.

fM Horme

Gamirin
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15

A2 Cohesion

62 (TH 61 55 60) 600T 6

A3 Mneme

Bl
4 Heridity

Lo

"Language acquistion device is a universal grammar, a built- in stone house of rules that apply to all human languages"-said by

QUMTPQLMIAISMETET 2_LIGJ600TLD 6T60T LIS 3|6060TSHSI608 @)6VE:8600TID. & 3(606TSH S L0605 &6V
QUMASEHEHEG D LIW6TLL &89 Ul alemndulel Qml &Hemeh& u alS serfleTLg @ [Haums sl Gausoor(h LD
6TE0TE: Famlulelr.

I Moerk

Gumil&
{k2 B. F. Skinner
L9). 6T L1, 6h0 G\ edTeuT
Owens
g6l 6061
4 Chomsky
Fmen &
Gradual diminishing of CR in the absence of CS will lead to

SLOUU@SSLIULL grevorLevmm Blenevulley LI LIS GenmWld SLQLULGSSLILIL L &6VhIse) 67&5MHES
alPNlaG&GsHGLID ?

Al
. Spontaneous recovery

56016011 & 60 & WIT6oT LOL_L_6V
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A2 Extinction

LD6DYMN &6V
A3 Stimulus discrimination
SIT600TL_6V LIMTG LT
4 Stimulus generalization
SIT600TL6V QLTSI S SIS 6V

Level of Aspiration is closely related to

Ilalme] Blemev L60T QIB@HRISW QS TLIL ML WS

1 failures

G meLeNl & 6T
A2
A successes
Qeumml a6
A3 self - esteem
FW-nflumeng
A4

needs

CH6UG 6T

The period from the third to the eighteenth week of pregnancy is called as period.
SILIL &ITeVSH 6V eLNETMITEUS aUMTILD (LNH6V LISQ6TLLITLD 6UITTLD euemFuilevment &imeuld

.Al Germinal

(LPEMET Blemey

_AZ Embryonic

& Blemev

eTeoT LILI(\LD.
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53 Foetal

6UGTI&(H

4 Zygotal
SHLOL L

Human development starts from .

D6of1S QUETIESF QL JIDLIIDMGLD Blem

! Infancy stage

GwallllLeuld

{X2 Pre-childhood stage

(L6 GLHENSLI LI[HeuLd
3 Pre-natal stage

(LP6OT S(HLILIIHEULD

A4 Post-childhood stage

6T GLomens LI LIHeULD
Which of the following is controlling the Emotional development of a child ?

G LD & 600TL6UMD MIET 678 62(H &LLHemGSUN 6T eTCaUWEF CLUML L S&LOUUGSSHMS ?

‘Al Intellectual power

SMleys Slmeor

AZ Maturity

WHTFE

{U Self-control
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&GW& SLBUum@

‘A4 Self-concept

& H(HSH S

learn to read and write by training and education.

&evadl LMD LWIMHE epeuld LIS 560 LDMMILD 6T(LD SIS 6016V SHHMIGQSTETEUT.

fM Imbecile
eLNL_ & 6T
AZ Idiots

(DL LITET&6IT
53 dull learners

QZITES SMHEUITH

‘A4 Morons

GG W& 6T

is a mental category for objects or events that are similar to one another in certain ways.

LDGOT QUEM& 3{6VEVEI QILIMIHETEET 2|6V6VSI Bl&HLDE| G 6T Flev aUL G660 eR6TEmMQWITETMI 6255 (H& G LD.

Al Encoding
GSMIWTE &L
{\2 Storage
Gaudlliy
AS Retrieval
SEQL@GLILY

A4 Concept
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24

&SI

counselling is also termed as the counselling at the time of crisis.

QB(HE: &L WLITET GLDEemeuUil6h Sinfleyemi LIS TS em6v SMleyenT LSTSH60 eTedrmild MISGmTLD.

Preventive

sOuyery
Emergency
I|QUETT [Blemev
3 Curative
(& 600T LD TE & &5 For 19 UL
A4 Eclectic
FOIE
describes insightful learning as meaningful restructuring.

EESHTLE HHMEM6V TS LNETET LDMIGL L enLDLIL] 6TeoTm) Fapluleur :

.Al Kohler

Commamevry

.AZ Koffka

G&HM&LIGIT
A3 Lewin
eeledr
4 Yerkes
QuiFgen

is a continuation of thinking in sleep.
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CTETLISI STE55 560 @@h FhHeneruileemn W QSTLFEFRWMGLD.

fM Case History

SeofIBLIT eUFeuTm

.AZ Clinical Interview

DS SI6U GBI MeuoT6V
A3 Physical Examination

2 L6 UflGaFnsemneor

{X4 Dream

&H60T6)

The level of aspiration is one of the factors of determinants of personality.
QU6 [Bl60I6V 6TEITLISI 6THS 2L ETH60ILNEHSHITE0T UM TWMIGHSH L LIL6TLHSH M &M yeoll&ermss Bjevoruildh e
Lwetu®ema ?

fM Psychological

2 emeilwiev FMIHS
52 Biological

o2 uUNflwe EMiHS
63 Cultural

UevorLIMT(H) FTHHS
.A4 Sociological

FePSHLD FMIHS

Which one of the following skills is not a perceptual development ?

LNesTeu(LD HMeoTas6rfleL 6TH & 6p60TMI L|6VEITEHITL G aUeTITEDF 3j606V ?




fM Self-feeding
&rl-2_600Te,L_ L6V
{%2 Self-dressing

& UL-S|6VMBISTTLD
A3 .
.~ Jumping
&P HS6V
{\4 Playing without toys

Qumbennserflern ellemerwimb &6

Concept formation is the most important factor for :

&HHSSIHUTESHSH MG (NS&HS UILDTET &ITI6ool :

fM Reasoning
&ITIT600T L0 M) &6V
Az Problem solving

F 5560 HeM6TEH 6V
{U Innovation

L &l60)LD
.A4 Interest
abJeuLd
The interval between initial storage and eventful recall is called as

B&L06|&& T L L MHIGa&EEI0D, Halss CFafllLHGLI0D @Gml_Gu_lu_lrrGOT @ emLGalerflemul
SMPSHHEMITLD.

1 Attention Interval
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FHeuer @ enLQeuerf]
‘AZ Retrieval
WS L6
Retention Interval
Blemeoredlem LG 6 erfl
4 S
Assimilation
STl lIL(H &SI SH6V
At school, the teacher can use group activities for the development of personality
LeTerflulley, s @ W 6THS 61U S L EHEOLDEM L QUETIES & (W& Q&u_la)un@asemm LWeTUBSSISMITT 2

! Types
QUM & 56T

A2 Traits

560118580 M)
3 Character

L1600T L| & 6T
4 Groups

S W EH6T

Educational psychology helps the teacher to understand :
AR WTHEHEHG Gevall 2_aralllicy eTend LflHS! Q& TeTeT 2 56 |RMmS! ?

fM the learning system

&HMHM6EL eMmLDLIetL

2 the teaching capacity
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HHISS6 Hmemeor
{B the behaviour of the pupil
LD TEooT TE &1 60T [HL_G6M S5 (LD 60N &60) 61T
.A4 the Society
FNEHSHMSH

HOUMEVGENETS SHMTEHH & Q& meoor(h HlLTCs. ...
366U N&HGH G LPHENSHHEMEV6V. ...
eTeoTml S0 Hallens auflGerfley FnndlueTereud wimy ?

Mo ewgsn

Az 6)T600T | &5 T&F 60T

:A3 &6 L0 6vof]

A4
&S

L1660 MBS W &emnds eTedTml &TUIl6T &HeUenmenuld GMILILNGIWD LmBTerm oIl LML eS6dT 6Tevor :

Al .
. BbMOUS

A2

LIedTeot | revor(h)

A3 .
7 eTevoTLIG)
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35

A4 .
_ GTEOOTLIS & T

amesleSpH G LIMTFHGWELTS SLODLBTH 6Teord Q& U auenauiley &L L L 1D &L LLILL L BT :

fM G\ & 60T6D) 60T

A2 . .
L BEETLY

A3

DSl T

A

4 G&ITem6l

'GLMG' 1TSS M @GS BLOGHE TR TLIQLIWIFT QUITIBHSILD ?

,Al Q&H6OTM6L

A2 .
DT BLES
A

: 3 &600TE S

Ad
T eumenL




QUGG 615G 60T UM & LD ?
Al .
. Qpeor)
A2 .

M @ran®
A3 .

. [blTedl &

A4 .
. Zbal

36 QUL QUTWH 6T &Fif I WITeIT ©)6memTem g G556 & [ & &6y Lb.

fM SIS s, IDTHEHL

,Az MG, LDMH

AS LMl 60fl, A& H e

A rge, s

37 BT LDL| 8606 Q& MeuorL WITLD :

Al .
. FGHTLWITLD
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A2 |ps&IwImp

fm Gurflwmp

A

4 QEmIGSHTLIQUITLD

LD G 60T 60T LN 600 UILD 6T60TERILN [BITL& BTedl6V @)LLD QILIMMIGTET Mg MHIG 6T, & 6ITMHIS 6T :
Al . . . . . .
. DB MGG, @@HLS &6ITMRIS6T
A2 . . . . . .
T @QhUS S|MISMISKHET, 8HG &6lTMIS% 6T
A3 . . . . . . .
T UGS O BIGBIGET, LIS &6ITHIG 6T
A4 . . . . . . .
7 ®b& SIBIGBIGET, LIS 868 6T

'O ULIMT60oT QL) 6m WMLy MBS TT &H6016VE6T — 6T6OTLIS!

f“ G\ 5 & ITLO 600t |

fm sl Nl sl

3
HMObITEQTMI
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A4 .
. BIeVGWIT

'@ evflemloud BIenoud &LOGILDETEL @& 6T6dTm 6THS BEMTeL GMILILN & mS! ?

fM S ITT5 b5 600T(H)
éz LN mi&6v B85 600T(h)
> Pean®

A4
. FEUSIE

grflwmer allemLemwlsd CHTIHASMHI&HSHLD :
Fammi 1 : QeuesorLIMelleh @ UWIMEIHLD G6eU6TITE(HLD QU(BHLD.
FaMMl 2 : IDMPET CBIT, a6 B1eMT (NG 6O &60)6T8 66T Q6U6ToTLIT QLIMMI 6UHLD.

Al . . .
. Smbho @revor(hibd &)

A2 . .
. smpo 1 - &l smhomi 2 - Heumy

3 . .
FHm - Heum ammi 2 - &Fifl

A4 . . .
. Gamml @reor(hld SHelml
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44

L1669l 6dT @B Lh & 6T 6eTedTm LIS QLmm mrevm & flwiiflest mr@)

Al
. &He0TLIT

52 YAl =41

A3 . .
. CbsJeNbS

.A4 LNy meorae

SLOemMLD (NS, [Bl6V6), LDETOTLD 6TETQMEVEVITID Fo MUl

Al Lng@wimy

,Az UM% &maeor

f{'} gailLneoof]

A4 . ..
7 BIMTN&SE TMeNBIST

|6V Sl BIeVILD S FlILILG&TE ..... @6uaulquiley @LIDQLIMILD HIEVLD 6T60TM Q& MeLE0I6T QILIMIHET WIMSI ?

{M GLmaIlD
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:A2 62605 @LD

A .
.3&®®m

fM um L

SMTITLe0L 'QeueTeT(h)' 6T60TMI 2| 6MLOLILISI 6T6URMNE 6ULPEH S ?

Al . .
7 IomIseud

A

2 . ..
QLESETLEEH6

A3 .
. 62560

A

4 @)6V8 856007 LIGLIMTEY

(WNGBHEI — QH TN QFTMHETL @)L LD QLIMTHEm6.

.Al Q&ML &G 60T

A2 . .
: GHN&HSHCH 60T

A3 1nem6v 5 BG 60T




fM Q& ME G 60T

47 Gs oML, Lerflnmeyd FSH 60 STULGHGID Fisefleld 9868 mUIS6T HeT@ &MUl @0 LIMLede) @ L DG LMD

G LOM—L|6fIDIT 6TEILD Q&M EH & ST HeMFem Ul CHTHOE(H & 5.

Al . .
GBIy — GBI, Blen — BlemT

A2 . . .
.~ GBY - GBY. Blemr-GBIT

A3 . .
7 GBI-Bleny, BlenT-CnI

A4 . .
. Bleor-Goy, CHI-Hleny

48 "GU(HEH NS GTETM QF ML GUILILISI :

! LD LILPLD
A2 . .
7 eumemLpLILILpLD
A3

LeUTLILILpLD

A4 . .
. @B Lo




49 QEFEMaUMEHE Q& maTerLILI(heUg

_Al Nflwmemio

52 Lmeumenio
A3

LDMEUTEMLO

A4 . ..
. Beveuldl LSS0

50 ‘ueTemem LML (h)* 6T6dTLIG 6THS @ Lpedle LML LILI(BID LIML6V ?
! QB6L GMHMILD QUTWSI

,Az &MU (M &G QUITWS!

A3 . . .
. BB JAMHGLD QUTWS!

A4 . .
. BIHo BHILWD QLTSI

o1 "QBHS QeUTETCMIT, & B8 QeuTaTCMT, LG UL LGS, G)LUILI&LD QeulIGUITET SHemeuGULL" 6T6dTM & MhissLILITL 6V
afl&6T @ LD QUMM HIT6

Al




HMDbITeQrml

A2
L SISBTEND)

A3 .
.~ BHmlemevor

A4 .
. GOHESTns

52 SIDOTWT eTeueemnd CLmed ?

M wsneume

{&2 @emnLL1GLmed
§A3 WHo1GuUmed
,A4 SHenLLIGLITeY
53

SO LIS LILI6V T 60T &606VL0&60T 6TedTml CLIMTMMUILIG LIGUT WITy ?

fM F).6061.5 TGOS J6OTITT

52 Quilwumrg
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55

f% Bevsseoor L &Fmerv G ifl

M FLUILNgwevoflw sguif

BTeuTWIrs Heuallw NTUbSSCHTEH QSTLILIVeVTSH6T :
! B8 (LD 6ofleu

A2 . . .
. LESSTpeT

A3
. BMg el

A

4 . .
Guwirpeumry

'SUTLLTLD — TF&F 1555 60T 560160H ST ?

A

1 . . .
Q@ 60L& FMRIGLD

A2 . . .
Y BeOLE FRISLD

A3 . ..
. PsM FRIGLD

A4 . . . .
. [BITEOT&HITLO &FMRISLN




26 &6UMITET @)6M6TEDLIS CHTHOHH &L :

6T em LWL TLD Sevoremeoorll LieTef1&8m LD — BTeuevd CFMIN&HST LUTTFHWTT

{\2 DG LIMeV6DT LILIQ BBLF6TITH H)600T6m600TL I LIGT6N 880 LD —6). &+ L1.LOMT600 1858510

f% &) ([HE.600TTLTLD (NS SITTLD LIMTTS) & evoremevor Ll Li6Terfl&ga LD — LOMT.@) [ T& LOT600! 1858 60T T

Ad G(HOBLVEEN QBEMEGH S C\&(IH 8600T LISHWITT 5 evoTem 60T LI LIGTEr 18 8m L LD — QeU6TETE STV L.
© o sUyweoflwent T

57

6T &1L 63T 6T60T LIS .

fM NWmBIGS 6T 6lemeoT(LNM M

fn @HEMLD gJal6L allement (MM

53 LIedTemLD 66V alemeoT(Lnm m

A4 . .
. @oluy afllenerh o
58

@), 7, 23 auldl Wielald eTedTm NS QLIMBHSILD Q&MU :

Al g|memLD + QUITIH6T




A2
. LO6DY60T + 6T60T

:A3 QUITEdT + A mLILY

A4 . .
. 8leh& + 36V

> CluIm(mE5I5.

(A) =g SETID 23 24,F60 ~ (1
(B) =gl bLsv
(C) @emiblmew
(D) serCleormhm @rigssss - (4

Glsurhmlemsy
&(HEISLEY
(LA )
eOLIHSLOILD

| |

— —

b
e

AL ()@, B)3). (@), D1
A2 (A)6). B)-(4). (O-@. OHD)
A (A)4). B)6). ©-1). ©H)
A% (A1), B)-(4). (©-6). D)

60 LSe0QLILI FTEHTHID SiFR mILh ofL1LI6T0TL LD

Fmev WG5S SIL Quueor
- @85G uUmellev LuleTmiaHLD | 6vof] :




Al 2 aiemLD &) 6t0f]

éz ndlg Qumblse o 6oof]

53 QFTMHRUITIH6T LI 6dTeu(® [H]60I60 W 600(1

fM GeauMmmIenLD 600t
61 Which is not the subscription of a Formal letter ?

fM Yours Sincerely

2 Yours Lovingly
3 .
Yours Obediently
4
Yours Truly
62 A sentence has only one main clause and any number of subordinate clauses is known as :

fM Simple sentence

{k2 Compound sentence




63

64

Complex sentence

A4 .
. Positive sentence

Choose the right pattern for the following sentence.
During the war, many people lost their homes :

Al svoc

A2 sviopo

A3 Asvo

A% As10DO

Find out the correct word for the definition given.
An adjective or phrase expressing a quality or attribute regarded as characteristic of the person.

fM Anaphora
A2

Simile

3 Epithet
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66

67

4
Imagery

Who is known as "The Poet of the People" ?

.Al Robert Louis Stevenson

.AZ William Makepeace Thackeray

AS Edgar Albert Guest

A4 Mary Ann Evans

Choose the correct modal verb.
1 draw like an eminent artist.

Al
. ay
A2
. can
A3

will

A4
. must

Find out the correct synonyms for the underlined word.




Anna would say with an impudent smile.

Al Innocent

Az Fake
3 .
Disrespectful

Decent

68 Choose the correct synonym for the underlined word.
The turtle has to houl itself laboriously onto the beach :

! pull with force
2
gracefully and effortlessly
3.
with great effort
{M with less force
69 Which of the following sentences is correct :

.Al The ship was moving in Indian ocean




52 The ship was moving in the Indian ocean

A3

The ship was moving in an Indian ocean

{M The ship was moving in a Indian ocean

70 Unscramble the sentence.
Divine/is/to/forgive.

to forgive is divine
forgive is to divine
3 divine to is forgive
é4 divine is to forgive
71 Choose the plural form for 'Hypothesis'.

fM Hypothesises

A2

Hypothese

A3 Hypotheses
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73

A4

Hypotheseses

Choose the correct preposition/prepositional phrase for given sentence.
He climbed up the stairs to get

Al

A2

A3

Ad

Match celumn A with column B.

(a)
(b)
(c)
(d)

Up

Onto

Into

Ahead of

Column A
Gerunds

Infinifive

Present Participle

Past Participle

(i)
(il
(iii
(iv)

A @i, (b)-Gi). (e1iv). (@)

the terrace.

Column B

Having walked a long distance, | felt fired
Walking is a healthy habif

| like to walk early in the morning

These are my walking shoes




A2 @), O, @D, (@)
A3 @), (b)), (0-0). (d)-(iv)
A% @i, (b)), (-(iv). (@)

Choose the correct tense Form for the underlined clause
Catherine did not have any cash because she had lost her purse.

! Present Tense
2
Present perfect Tense
A3 Past Tense

4 Past perfect Tense

"I hated every minute of training but I said, Don't quit". It is said by

_Al Muhammad Ali

2 Mary Kom
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71

A3 A.PJ. Abdul Kalam
A4

P.V. Sindhu

"Here is a tramp who stands and gayes;

And there is the green for stringing the daisies

These are the lines written by the poet,

fM Robert Louis Stevenson

.A2 Robert Wilson Lynd
A3

Robert Browning

A4 Robert Frost

"Cup of tea" is an idiom which means ?
One's special activity

62 One's favourite activity

3 One cupful of tea

A4 One's own activity

'l'
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79

80

Fill in the blank with suitable preposition.
The plane flew the building.

Al
. over

A2
.7 on

A3

upon

A4 above

You may have to arouse the conscience of the people on certain issues. Such letters can be classified as
Formal letters

Al

{%2 Neutral letters
A3

Informal letters

A4 Letter of inquiry

Choose the correct verb form from the options given below.
When Ram entered the house the dog at the corridor.




‘Al was barking
2 is barking
3 has been barking

4 has barked

81 Find the synonym of the under lined word.
He crouched down on the threshold and also fell asleep :

Entrance
{XZ Stairs
A3 Road

4 Balcony

82 Replace the underlined words into American English.
'She could not use the lift to reach her flat'.

! sidewalk ; apartment




A2 elevator ; apartment

escalator ; underground

4 indicator ; sidewalk

83 Choose the correct form of the verb.
I basketball when he came.

! was played

were playing

A3 had been playing

A

4 have been playing

84 Choose the appropriate question tag and complete the sentence.
"Don't come late tomorrow, ?
fM Are You ?
Az Will You ?

A3 Aren't you?
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Do you ?

Choose the correct prepositional phrases for the following.
The assignment will be completed

.Al Year
62 Month
{X3 Few months
_A4 In a few weeks

Choose the right Blending word : Helicopter + pad.

1 .
helicopad
A2 pelipad

3 feliopad

A4 helicpad
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Match the sayings with the personalities.
Sayings Personalities

(a) Whatever you like to (i) Neerja Bhanhot
do, make it a hobby

(b) Life is either a daring (i) Edward James
adventure or nothing. Corbett

(c) Not against the law of (i) Warren Buffet
nature but against
law of human

(d) 'will die, but not run (iv) Hellen Keller
away

(v) P.V.Sindhu

A @), (o)), (©)-0). (@),
A2 @), (b)), (e, (@),
A3 (@i, (0)(v). (-G, (-G,
A% @i, (b)), (i), (@0,

Choose the correct blended word from the following.

camera + recorder - cam recorder

A2 motor + pedals -Moped
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International + police - international poll

A

4 breakfast + lunch - break lunch

Punctuate the following sentence
but no one ever comes here I had protested the first time we did this who's going to see them :

Al . 4 .
-~ "But no one ever comes here" I had protested the first time we did this. Who's going to see them.

A2 . 1 .
~~ "But no one ever comes here!" I had protested the first time we did this. "Who's going to see them ?'

A . g .
] 3 But no one ever comes here, I had protested, the first time we did this. Who's going to see them ?

A4 . o .
~ but no one ever comes here | had protested the first time we did this. Who's going to see them" ?

Choose the correct American word for the following British word.
"Bonnet"

fM Hood

2 Sidewalk

‘A3 Gasoline
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‘A4 Truck

A garden is to be laid out in a rectangular area and protected by wire fence. Find the perimeter of the rectangle whose length 30 ft and breadth
18 ft?

2@ CHTLLLD QF6aIs allgallel jemnssLiLL () &L Gaued epeuld LIMEIGTE S LILIL (H6TETS). & 60T HETLD 30
|19 IDMHMILD FH6EVLD 18 |19 6T6dT 16V QF6UEUTH S H 60T &M MEIT6) 6T6OTEOT?

Al 080 1t

1080 91,

A2 540 11

540 @1l
A3 96 gy

96 9|19

A% 451

48 3|19

The sum of the smallest and greatest two digits prime number is :
a5 dlw womoib WsLuUlwu @TLenl @6v&H8 LIST eTeioTd 66T Sah &6V :

Al gg
88
A2 og
98
A3 g

118
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A4 108

108

The co-efficient of range of a set of data is 0.28 and the smallest value is 36, the largest value is :
Q&EMHGHELILLL SIa|ll L|6Terf&Heha&Hasmer efFa86 Q81D 0.28 ereore]ld, W&& Gl DG LIL] 36 eTeoTa LD @) H LI 60T
sell LeTerlaerfler W& LIQUlw LGLILTeTS :

Al 3608

36.28
{%2 35.72
35.72
.A3 64
64
A g
72
If the points (x + 6, 10), (3, y - 6) are equal, then the co-ordinates (x, y) are
(x+6, 10), (3, y - 6) 6T6d0TM LJ6iTerl& 6T FLOLD 6T6vf16V (x, y) @)60T DG IL]

Al (16,3)

(16, 3)
A2 (3,16
(-3, 16)
A 3,6
(3,6)
A 6,3)

(6,3)
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If the area of the rectangle is 64 x3 y4 sq. units and whose length is 16 x> y2 units then the breadth is :
R(B QF6US ST 60T LITLILIETEY 64 X8 y* F&IT 360G S 6T DMMILD BeTLD 16 X7 y* S16VE& ST 6T60 160 S 60T 3{&6VLD :

Al
. 16 x° y units
16 X° y S60G56IT
A2
. 43y units
4 x3y3 960G S6IT
A3
L 4% y2 units
4 x3 y? S160& S 6T
A4
.16 xSy3 units
16 x°y? 3|6V & & 6T

The sum of three consecutive even numbers is 78 then the least number among is :

Q55O S eLN6TMI @) TL_60)L 6T600TE 61 160T For(HFH6V 78 6T6vf16V, UM MIET FIIIUI 6T600T 2, 60TS! :

Al 5y

2
A2 o4
24
A3 26
26
A% 9g

28




Match it :

Find the area, when the dimensions is given.

(i)  Eqguilateral triangle, side=4 cm

(i)  Rhombus, d1=8 cm, dp=/cm

(i)  Paradllelogram, b=8 cm, h=/ cm

(iv) Semi circle, diameter=28 cm

LluTmssIS

(a)
(b)

(c)
(cl)
(€]

56 cm?
308 cm?
163 Cm?
28 cm?

43 cm?

LlarREs iul Rearar yoralhseneT enaufg LITLILIGTENG SIS

{I}l FLOLIES (LpFBHTERTLL, LISSLD =4 cm
(i)  srdiesmms d1=8 cm, dp=/cm
{if] (@) enenrEILL, b=8 cm. h=/ c¢m

{iVJ ayenmeanr 1 1h, &l 1h =28 cm

AL ()0, (i), Gi(a), (1v)-(b)
()-(©). (i), (iiD)-(a), (v)-(b)
A2 (i)(0). (i), Gid)-(a). ()-(b)
(D)-(©). (i), (iii)-(a), (1v)-()
A3 (ii)-(e) (i)-(a). (D)), (iv)-(b)

(iii)-(e) (ii)-(a), (iii)-(d), (iv)-(b)
A4 (1)-(c), (i1)-(a), (ii1)-(b), (iv)-(d)

(a)
(b)
(c)
(dl)

(€]

hé cm?2

308 cm?

1643 CM2

28 cm?2

4.3 o2
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(D)-(c), (i)-(a), (iiD)-(b), (iv)-(d)

In a triangle ABC findx=¢
A

13

5
B 12 D 12 C

wEGsmesTd ABC @60 x 65T LOFILIL| STetTs |
A

13

S

1z

Al
A2 3
13
A3 94
24
A4y

12

Find: /6581 .
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HITEHIIGH: 6561 .

Al

A2

A3

A4

Find the area of the shaded region of the following figure.

14icm

SIS seTL LLSSI60 BIpedll L LG Hlullest Lyl &mesorss.

14 | Qa8
7

_Al 56 sq cm

56 F.Q&.10.

{\2 112 sq cm

112 &.Q&.18.




A3 118sqcm

118 F.Q1&.14.

A4 124 sq cm

124 5.Q&.18.

101 The radius of the circle is 12 cm and the length of one of its chord is 20 cm. Find the distance of the chord from the centre in cm.

QL LSS 6T QIih 12 Q& .15 InMHmILh 6(H HTesofl6or Herrin 20 Q&.1S eTevflev, aul L &5 6T 600G S 60 (HH S
BIT600l 1M @& 2 66T SMTLD Q& . LS -6V &TevoTS.

AZ W2

A3 ool

At W2
122

102 The angles of the triangles are 3x, x + 25, 4x - 5 then the value of x (in degree) is :
62(H (LNE>C 8 T6I0TS B 60T B85 T6I0T 266 8561 (LDEMMEGLLI 3x, X + 25, 4x - 5 6T6vflev x—@) 60T LDGLIL|(19. G flullev) :

Al 5

30
A2 9

20




103 (16)3/4 =9

(16)>4 ="

Al

[
o~

]
(9,8

A2

B ﬁ
o8 o8

N

A3

N

A4

oo

[o2e]

104 The perimeter of a triangle of sides of length 12m, 1200 cm, 12000 mm is :
12 15,1200 Q&. 18 ,12000 L. LS [BemLO6ITET LI& 8551856006 Q8560 L (LN &G & T600TS & 60T &+ MMETe)

Al 3600 mm

3600 LA1.LS
A2 36m
36 LS

‘AS 14400 mm
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14400 4.5
.A4 13212 cm

13212 Q&.18
The length of a rectangular playground exceeds its breadth by 12 metres. If the perimeter of the ground is 196m, find the length and breadth of
the ground.
R QF6IaI5S allgal alleeTWITL (h 600G T6TE S 60T [HETLDMETS 2HHBlIeVE S 6T 3|GHaGens il 12 1S
AT EHDTGLD. FQF6UAIS U6 DD TETSH T SMHMETE| 19615 6T6vT160, 3NN TS H 60T [HerLd M miLd
I HVH D HE &T600TS.

_Al 55m, 43m
5518, 43 1
{k2 43m, 55m
4318, 55 18
.A3 92m, 104m
92 LS, 104 LS
A4 104m, 92m

104 1S, 92 LS

In a Punjabi Dhaba, 480 kg of Atta is sufficient for 105 persons for 12 days. Then in how many days, 120 kg of Atta will last for 35 persons ?
e LIEsFTL mumellev, 105 BLT&HEHE G 12 HTL&HEHEE CLIMSILNTET 480 &).6). GoMSI60L0 D6 2_6Teng! 6T6uf16V,
35 L& EHEE 67556060 BITL&EH5EG 120 H).5). CaHMgienio M6 CLIMSIDTETSTSH &) (H& E&LD?

fM 8 days
8 IBITL_&6T
62 9 days
9 BITL_&6T
A3 10 days
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10 BITL_&6T
A4 11 days
11 BTL&6T

Sum of a number and its half is 48 then the number is :

&1 6T600T LOMMILD 2{ G 60T LITHUN6T G () G560 48 6T60f16V 25 G 6T6v0T.

_Al 42
42
Az 32
32
As 34
34
A4 36

36

The arithmetic mean of 6 values is 45 and if each value is increased by 5 and another arithmetic mean of 6 value is 50 if each value is increased
by 6 then the difference between them is :

6 BT6&6rfl6r FIMEFIf] 45. REUGCAUTH STEL6T 5 83 Fnl 1q60TTeV B &G FImFFleGLD IMAMTIH 6 &6y sserfleor
gl 50, @eUQ6UTIH &T6)L 60T 6 83 Fnl 196076V PenL_ &G FIMFflE G 2 6T6T NGSH WML :
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The sum of the angles at a point is :

& L|eTerfludlev QLomE s @ meuor i & 6rfl 6T Fo(h) &6V

M

00

62 180°
180°
f% 360°
360°
.A4 90°
90°

A bus is carrying 56 passengers with some people having Rs. 8 tickets and the remaining having Rs. 10 tickets. If the total money received
from these passengers is Rs. 500, the number of passengers having Rs.10 tickets is :

2 CLBHH 6L 2_6T6rT 56 Lilieooll&erflev Flev GLIT €. 8 —8:8 60T LIWLIeooTdF FL et WLD, LS 2_6TaTaug6iT . 10 —
&H8TeoT LILGTFF L em LWL QLIMMI 2 _6TemeotJ. Liuleoot&erflL LD @b LWweoordFL_(h &L_L_600TLOTS e1h. 500
QuUMLILIL (R eiTeTg 6Tevflev, ef. 10 Liweoord L (R QUMM LIl euof1&6rf1 6T eT6v0T600 18560085

Al 3
30
A2 3
3
Y

26
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A4 28

28

A man travelled 140 km by bike and 560 km by bus to reach his destination. Find what percent of total journey did he travel by bike and what
percent by bus respectively ?

& BT SH60TSH LILIEITSenS 140 &).10 @ (hF&HET aUMSH60TS e, 560 &)L CLGHSH VD GLMASTETHMTT
6TE0T 16D, QDTS S LILIGTITSH6L 36Ul @) (HEFHEHIEH 6V LILIGTD QFUIS STTEH 6T &F5856758 605 U0 CLI[HHSH 6L
LILI6soTLD QF WIS SIS S 60T &F8567656m5 LD (NemMGU 55T600TS.

Al 0%, 80%
20% , 80%
AZ 0%, 20%
80% , 20%
A3 0%, 90%
10% , 90%
A% 900, 10%
90% , 10%

Find the least number that must be subtracted from 27256 so that it becomes a perfect square.

27256 ~WIe9 BB S! 6THS L& &G MWl 6TevoTem 600TE &HLAIGHSH T G 62(H (DD 6UFT&H T 6TE00T600T TG LD.

Al

21
Az g
11
A3 3y

31
A4 41




41

13 The area of a square field is 3136m?, find its perimeter. (in cm)

(H FHIT BlLVSF60T LITLILIETE| 3136 &SI LOLLIT 6T60f16V, & 60T &FMMETEM6UE 85MTeooT5. (G &F. 1)

Al
242
AZ 204
224
A3 42
422
A% 240
240

114 Using Euler's formula find vertices of a polyhedron with 32 faces and 90 edges.
VT GHHTHMNS LWTLRSDF) (DSMIGET 32, el DL| 86T 90 Q& MeuoTL 62(H LIGT(LNS 611615 H 60T 2_& &\ & 6T
678 & 60 60T ?

Al 1

122
A2 g
58
A3 3
30
A4 g0

60




115 If mean and variance are 8 and 64 then co-efficient of variation is :

Forafl Mo UFeimULy WemmEW 8, 64 6T6ofl60, LDMMILIMTL () C1&(LDEUTETS) :

Al 100%
100%
A2 100
100
A3 5004
50%
A

1

116 "
If AABC ~ ADEF such that area of AARC is 16 cm? and the area of ADEF is 25 cm?

and EF=2.7/5 cm. Find thelength of BC = ¢

AABC ~ ADEF & AABC uiiair LiTiiLy 16 =68, ADEF & LiTiiny 25 =658
ot EF = 2.75 Gls.f erafled BC = air forid srairem ?

fM 2.8 cm
2.8 Q&8
_AZ 9.6 cm
9.6 QF .15
A3 22cm
22 Q&8
A4

3.7 cm

3.7 Q&8
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Find the area of given trapezium.

H 5em G
\D‘ﬁ? E g 55 cm
ol el
(T
4 5 €m
E S8cm F

Sasramib wruSdwsslssr urly :

H 5em G

QU

3]
55cm
6 Cm

.Al 37.45 sq.cm
3745 5.0F.18
AZ 35.75 sq.cm
35.75 §.0&.18
‘A3 35.55 sq.cm
35.55 5.0 5.8
A4 37.65 sq.cm

37.65 F.Q&F.15

How many hundreds in Ten Million ?




LSS 6v6SWIevf16v 6785860 60T [BITMIS 6T 2_6TerTeoT 2

Al 100
100
A2 1000
1000

A3
10
A% 100000

100000

19 Y
(a+b) (a”-b"]

Al aZ-ab+b?
aZ-ab+b?
,AZ a2+ab+b?
a’+ab+b?
,A3 a2-+2ab+b2
a%+2ab+b?
{%4 a%-2ab+b?

a2-2ab+b?




120 The mean of 30 numbers is 16. If each number is divided by 4, then the new mean is :
30 eTevot 6 l60T FIFME ] 16. 626U G GUIT(H ETE0OTENILD 4 L6V 6U(&H&HSHLILILLITED LTI eTevorgserleor Fiymeif] :

Al 16
16
A2 5
30
A3 99
20

Aty

4

121 Quartz clocks have an accuracy of one second in every
GUMTTL6M S19.8 T[T IS 6N 60T 516060 L& 60T6m L0 W TEoT S & eormLy.

fM 1013 seconds
1013 efleor g & &
.Az 1013 second
101 efleormig &
{%3 1010 second
1010 T &
A4 10? second
10° efleorITIq 855

122 For a given temperature rise the amount of volume expansion of solid block is times the amount of linear expansion.
Q&EMHHELILLL Qeulluplensy 2 wielm@& Hevorin &L 1q.uiflesr LI elifleumeorg HeT elliflemeu GLIM6L
DL_MBISMTGLD.
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Al
~ one
REOT)!
fAz two
@uevor(®)
{U three
eLPEOT)!
_A4 four
BITETS
A conductor of length 25 cm, 5 A current is passing through it. When it is placed perpendicular in 4 x 1073T magnetic field. What is the force
acting on it ?
5 A LO6TGEOTTL_LLD LIMWLD 25 Q& LS BemIpeTer e HLSHWIMeoTS 4 x 10°T ST HSLILWSH6L Q&GS S TS
MaGSHLILORMS. HLEH 8 QFWeLI(HLD 6960F WITeTS :
1 3

5% 10N

5x 10N
A2
. 4x10°N
4x 10N
A
A 310N
3 x 10N
A4 3
. 2x10°N

2 x 103N

After 2 - a decay and 2 - p decay the parent nuclei ’;}( change into :




A ; : —— : : :

X BT HEWIES 2 - o Fengey HMID 2 - Flengea s s 2 (heumELw

S| ES(

Az
X

A+l

7+

A+1
A2 A4

X
7-i9

125 Calculate the amount of energy released when 1 kg of Nuclear material fused together :
1 5.9 Bleommuemnl s2(h HHFlUISHEH QLITIHETTETS 688 (H @) enenradler CLIME QeuaflliL(h& S
QLMHMEIVE &60oTHR (H 5

Al 1x100]
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1x100)
A2 6
T 3x10%)
3x100)
A
.3 9x10!8)
9x 1018
A4
T 9x10l0)

9x 100

Resistance of an ideal ammeter and an ideal voltmeter are . (in ohms)
6(H HeLEIWELL] DS LF immild GeumevL WL L [flsniemn L Lol60T & 60)L_85 6T 6T60T LIS . (in omhs)

Al o0
0,0
A2

A3

A4

The height of Eiffel tower (made up of iron) is roughly 300 m. During winter season the temperature is 2°C and in hot summer its average
temperature is 24°C. The change in height of Eiffel tower between summer and winter is a = 10 x 10 per °C.

LN medTeny [HITL1Q 8VI6ITeT @ @HLOLIMEY QEFuIwliL’ L FLl6T &ML TSHSH 60T 2 WFlh B LSS L 300 m QG LD.

LNy mesTerv BITL19.65T &6l &Mevs & 6T QlaullLBlenev 2°C IDMHMILD GSHTenL_ &8 TevEH 6T &ImEFfl QeullLBlensy 24°C
@ e6ueilyesor(h LI[H6U BlemevssEh&HER 6L Cul FFLI6T GH LTSS 6T 2 WFsH60 mUGID LDTMHMLD 6TedTLIS! : (a =10 x
107 per °C).

Al 69 mm
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69 mm
62 66 mm
66 mm
.A3 68 mm
68 mm
A4 60 mm

60 mm

Which is used to produce low temperature in cryosurgery ?

G GerfliBleney Simiemel ARFNFSHGS Gl W ITeT GHeMMHEH QeULlLIBlemn6even L 2_(HeUTEH SIS :
Al Liquid 0,
Slyeu 0,
A2 Liquid N,
Slyeu N,
A3 Liquid H,
&lye Hy
A% Liquid C1,

g\yeu Cl,

Catalyst of Zeigler - Natta is :
FHeuJ-BL LT ellemenr Gauss LOMMHN 6TeOTLIS :

AL Ticl, + AI(C,Hs)s

TiCly + AI(C2H5)3




A2 Rh/Ir complex

RW/Ir {60)600T6Y
A3 co,(co)s
CO,(CO)g
A4 Ni/H,
Ni/H,
130 The Pka for acid A is greater than Pka for acid B the strong acid is :

I|ilevd A @)60T Pka LDGHLILIMeoTE 3iLdlevld B @)60T Pka LnGHLIem LI &\ 81D eTeoflev 61g1 afflwidls e odlevin ?

fM acid A
9jblevld A
‘A2 acid B
9flevld B

A3
.~ are equally strong

LD 6U6960ILDU| 6D L_LLIEDY6U
A4 equal to kw

kw DS LINHE& Flold

131 Metathesis Reaction is a :
QL LIT&enSlen 6lemeot 6TedTLIGI 62(H :

! Double Displacement Reaction
@QULlenlL @LUQUWIFS aflenreor
62 Combustion Reaction

erifl& 60 elemeor
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3 Single Displacement Reaction

enhenm QL LUAUWTFEF elleneor
_A4 Combination Reaction

Fon(Hen & 6l e eor

If (n+ 1) value is 8 for sth energy level of the atomic structure. What is the name of the orbital ?

9|0 3MLILNGIT 5 - QUG QMMEV DL L SH60T (n+ 1) 60T IDHLIL] 8 25 @ (BHST6V b 2T LN L medledr QLiulF
6TEOT6OT ?

fM S5s
5s
.Az 5p
5p
A3 sy
5d
A4 5¢
5f

When a soap or detergent is dissolved in water the molecules join together as clusters called.

GFmLL 3j6Veudl 19 L TRgeuoTemL BHIfl6L HeMTEHGLD QUMW CFTLIL] eLN6V S T MIGH6T RETMITS @) 60 600THS!
Qa&EThHLUUS :

fM Micelles
Q& 66y
AZ Foam
BleOTLIL
A3 Molecules




eLN 6V & T M) & 6T
A4 Sediments

efibLig e

134 Which can be used as a sacrificial anode ?
GeoTeof 1oL GBIy LAI6BT (LN6M6OTUIMTES LIWIGTLIL & Snlq UGl 6TSI?

Al k
K
{X2 Na
Na

53 Ca
Ca
A4 Zn
Zn

135 Phenolphthalein gives pink colour with basic solution, hence it is :
&S SHOTFNIL6T LTarmLl1ge5ener C&FF&H @GN GUITSEI 2a1HT BIME NS &HHHRMS!. 6TevT @6 LIeoTITLIS5H6560T 6T60T LIS |
Al Acidic
b6V FHETeMLD 2 60 ULIGI
62 Basic
&M SH60TeMLD 2 60 UG
{XS Neutral

155\ B 60)6V Ul TEOTS
A4 Amphoteric
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FIIWEVL] S560T6emLD 2 60 L UG

Assertion : In helobial endosperm, the primary endosperm nucleus (PEN) moves towards the base of the embryo sac where it divides into two
nuclei.

Reason : These two nuclei are separated by a wall to form a small micropylar chamber and a large chalazal chamber.

2 _MIFFQFTE : anfGeVITLIW &5 (He,600T B\ &+ eUemM & U (LNFHEVIBl6mIV & (HE,600T 2 L8[ (PEN) & ([H L1160 LIUI6dT
IUILUGHES BETHS 3iHIG @ Teor(h 2 L &[H&H&6TMS LIGLILIMLHMSI.

SMJeoTLD : @\ HS @ TevoT(h 2L &H([H&H &6 emL G SreUl 2 (HeUT&HSLD HemL QUMM SNl &6V & emerT
emmenwwd QuUflu FeLTEFT Hemmenww|d CHTmHmIeN &SR 6TM .

! Assertion is true Reason is false
2 MIFFQFMeL Fifl HTTevOTLD S6um
2 Assertion is false Reason is true
2 _MIFFQFTEL HeUMI STIevorld &ifl
{%3 Both Assertion and Reason are true
2 _MIFHFQFTEL SMTIevorTd @ Tevor(hLd &ifl
A4 Both Assertion and Reason are false
2 _MIFFQFTeL &ITF6voTLD @) T6vor(hILD &6Um!
Binomial of yeast is :

FENVL_L1Q.60T @BOFTMH QLW :

fM Aspergillus niger
SL,EVLITEl6V6N BT
{\2 Bacillus megaterium
SBLIFI6V6VE QLSTEL Wb

{B Cephalosperium acremonium




QEFUGCsmenCUMlw & flGWmeflwiLD

A4 -
. Saccharomyces cerevisiae

FrHHEImanL&F e QFflalGHF

138 Choaose the comrect match :
(a) Endemic (i) Influenza
(b) Epidermic {ii) Occurrence of goitre
(c) Pandemic (iii) Cholera
(d) Sporadic {iv) AlDS
ClummasLomest sflenLenil CHTHGIS(H&ESaW :
(a) eTesoTL LOI& (i) @)stTooL|esThGlIWISITET
(b) erlNGILTS)5 (ii) STILT
(c) GuesiTLL6l & (iii) STEOIT
(d) enGumymes (iv]  erualen

AL @i, (b)), (-4, (@)-iv)
(a)-(i), (b)), (0)-(0), (D-(iv)
A2 @-(ii). (). (©-(iv). (A~
(a)-(i), (b)-(i), (©)-(iv), (d)-(i)
A3 @i, (b)-(0). (©)-(iv). (d)-(i)
(a)<(ii), (0)-(), (©)-(v), (i)
A% @), (0)-(0), (i), (@)-iv)
(2)-(i). (b)-(D), ()i, (d)-(iv)
139 In roots casparian strips are thickend by :

STaly GeauFsserfley 2 6Tem &menuLMIfleoT LIl emL 19 LN6DT &) 5 60TIT60 601G

fM Suberin
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&ruirfledr
2 Cutin
U L_1q 60T
3 Lignin
69169 6ot 60T
A4 Cellulose

QFeLIG6VITEN

Example for shade loving plant (Sciophytes) is :
Bloeb el BLOLIS STUTSHNHES TOSSISHTLH :

fM Algae

UM &6

2
Bryophytes
HengCumsen UL (H &6
Gymnosperms
3N G6oT MV G LI LD &5 6T
Angiosperms

2L EHF GUIMNQLITLD G 6IT




Match : (As in the given order)

(a) Episepalous - Orchidaceae
(b) Epitepalous - Grevillea

(c) Pollinium - Calotropis

(d) Gynostegium - Asparagus

QummeEs : (srluc’t aflemsiiing)

(a) Lsue0l spl lgu I6mEN - 2 TEHEIGLF
(b) wells @liguisnau - £lfleflsvsbluam
(e) GlumeSlesflwih - sCsumgrmiilsiy
(d) snsGestmsiviesdlwib - SIETOLITITS6M

AL G, i, (v, G
(®), (1), (iv), (iii)
A2 (i, ). 0. G
(i0), (iv), (), (i)
A3 (v, G, 0. G
(iv), (i), (), (i)
A, G, G, (v)
(©), (i), (i), (iv)
142 An example for Runner :

62(h 00T MG 2_FITJ6OOTLD :

I Fritillaria imperialis




LNrig Geurflwim @ Lifluwimedei
A2 Allium
3jevedl WD
fﬁ Mentha arvensis
QOGNS IT 2T G 6U6dT & 61
Ad

Chrysanthemum

FemTFMHHLOLD
143 Ravi's grandfather has symptoms like persistent cough, chest pain, loss of weight and appetite. Doctor checked up his health and diagnosed the
disease as .
geluIeT STHST QHTLIEF WITET @ (HLO6V, QB EHaT6U6I), 2 L6V 6TemL GHemme mmild LIS uleremnin CLIMeTm

G MHEBL6T ST LGS MTY. el 2 Lene LUFICFTHSS In(hsSIall, @) S GrBITUI eTeoT
&HeooT OIS mTI.

‘Al Tuberculosis
STFCBITUI
Az Cholera
STV
{XS Typhoid
L&MW
A4 Whooping cough
&5 (G 6UIM60T @) (HLO6V
144




Identify A, B, C,D:

fM A - Fibroblast, B - Mast cell, C - Collagen fibers, D - Macrophage
A - eULIGT ML eTmeiuL. B -DMeiVL. Q&6 C - Q& M6L6VTR6T @6mip D - Ul afl(Wpki@ Q& 6v
A

2 A - Mast cell, B - Collagen fibers, C - Fibroblast, D - Macrophage

A - IDMENVL. Q&F6V B - Q&M6L6VTE60T @6mLp C - emUILIGTTLeTmervl D - Quiflw ek &6
{\3 A - Macrophage, B - Fibroblast, C - Mast cell, D - Collagen fibers
A-QuUlu NWPBIGQF B - emULIGTTLI6ETTEVL C - I0MeNL. Q1&F6V D - Q& T6VEVITE 60T @) 60D
54 A - Collagen fibers, B - Macrophage, C - Mast cell, D - Fibroblast

A - Q&MTeLEVITRET @M B - Ul allWmbi@ Q&6 C - Inmevl Q&F6v D -enLILIGT L6 meruL




145 My friend is unable to identify the tones of same colour in my dress. Find the causative agent for this disease :

BT6T @G BIM&SH6L GaumILIL L QF M6 86068 Gl& 60T 31,6060 600fl5& aUbhSEH LIS 6T6dr GG MAlUIMeL
MG GH6voT LMl @) ulevalleLemev. @) &M & TeoT SITIeuotlemlss &evor(HLI1g 88D :

fM Lack of Vitamin 'A’
eneuL L LAl6dT 'A'GenmUT(h
.AZ Genetic disorder

TUs GenmUTL (B Blemev
{B Virus
60Y6U J61V

{\4 Lack of Vitamin 'C'

ULl L LAl6dT 'C' Gemmuim(h

146 Match the following :
(@]l Biogenesis (i) Life onearthis a divine creation
(b) Special creatfion theory (i) Life originated spontaneously from life less
matter
(c) Abiogenesis (i) The first form of life could come from

pre-existing non-inorganic molecules
(d] Chemical Evolution of life (iv) Life originates from pre existing life
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FRlwmsmeupenmU ClUMHSSHISE |

(@) 2uWgulimiys Gasmrium® (i) ywblufleysiter 2 uiliflesTriissT Wmeyb sp(m
Clzwieis LemL 1L

(b)] HAmpiys Cesmmms Cariumf (i) =z uirHol Clummlssfled(mHal
getresflFemawims 2 iy Camermieus)

(c) =z udifledld Nply Carlum@ (i) wsedlsv Gomermiw 2wy gheeTGeu
@mbs 2 WilrHo &eflo epeudsam
-serfledl(mbh & 2 (meursEl @) (mESHVITLD

(d) e Wrseflsr Gaudil (iv) (wstrSlpbs 2 uflifludlsy

LiflsoeTIioL @ mBsIsTer 2 uily Camermlwg)

AL @), 060, ©-(iD. (@-(i)
(@)-(iv), (b)-(0), (i), (d)-(iiD)
A2 @-(iv), O (D). (@-()
(@)-(iv), (b)), (0)-(i). (@)-(D)
A3 @i, (b)-iv). (e, ()-(i)
(@), (0)-(1v). (©)-(0), (d)-(iiD)
A% @), 0)-(i). (e1(iv). (@)
(@), (b)-(iD), (©)-(iv). (@)-()

The endocrine gland secretes Melatonin.
BreTleveud &IULIWme &résLUBGb ammiGLOTeT GILD6VGL 6o 16T 9, @& LD.

! Pituitary gland
Cw Ll &l

2 Pineal gland
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Lfeoflwev sl

3 Parathyroid gland
UTgmeng Tl &L
Pancreas

8560)600T LLILD

The lymph nodes that filter the fluid from the lymphatic vessels of the skin are highly concentrated in the regions except :

GxmedlayleiTer mlevoTBHIT & LpevaserfleveTerT mlevorBen aulg&H L (G BleoorBl (I FFHSH6T R ILSenEH s ST 6T6v6vIT
@ L M6l P &HIDMEE &Teoor LG . jeuadlLLD :

fM Neck
HWHI!
2 Respiratory tract
GOUMEL LITenS
3 Digestive tract
2_euoreYLl LIMen S
‘A4 Reproductive tract
QeTLIQUMEHSL LITeDS
In the skull the auditory ossicles formed are :

LD6vOTEM L CWIML_19.6V QFellEF FlH@MmaDL] emDLIL] @) 6UalTmI S|eMLDHSI6TETS -

fM Stapes, Malleus and Incus
6L L6, nmedlwiei, LoMmILD @)63T8 60

2 Incus, Stapes and Malleus

@ 6Ts 6, 6rVGLLI6N, LnMHmILD omedlwiehy
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A3 Incus, Malleus and Stapes

@) 60T&H6M, Lmedlleny LnMMILD 6rVGL L6
A4 Malleus, Incus and Stapes
LOmMeSlwle, @)60T& 61 LM MILD 6rVGL L6

Find out correct statement about neuron types and its position :

(a) Unipolar neuron found in early embryo

(b) Bipolar neuron found in cerebral cortex of brain

(c) Multipolar neuron found in olfactory epithelium of nasal chambers

(d) Unipolar neurons found in retina of eye

BILDL] Q&6 9606V [BIWLTTETSH6T D 6Mm6U eMLDIHSI6TET @)L &F)60TIq LILIen U6V meoT &iflWimeoT eUm&S LD
(a) @ (LNEMEDT B WL T ITE0T U6 [Hel6T QL TDL Blemevuiley s mevorLiLI(hLD.

(b) @ (BN EMIEDT BIWL,TITET QLITHeLN6m6T Ljmevot1uileL smeoorLILIBH & mSI.

(c) LIsu(pement Blw,Tmedt BITE Slemerullavierer opev LIMELI TS0 WSH60 s meoorLILIH &M SI.

(d) 2 (LNEDEDT Bl WLITITET 856007 QT 1Q 60T TNl6V & MeooT LILIN & MSI.

fM (a) is correct

(a) LB\ &

.AZ (a) and (b) are correct

(2) DHAILD (b) &F1f]
A

3 (d) is correct

(d) LB\ &yl

A4 (a) and (d) are correct

(2) LDHOILD (d) &1




